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First: Answer the following question (mandatory):

First question:
(a) Complete the following statements to be correct:
1) If the linear regression coefficient of X on Y is —0.25 and the linear regression
coefficient of Y on X is — 0.81, then the correlation coefficient between X and Y is
2) If xis a discreet random variable with range={ 2, 3 } and the probability distribution
function for the random variable X is f(x) = a X ,then a =
3) If A and B are two mutually exclusive events in a sample space for a random

experiment, thenP (AN B) =
4) If the arithmetic mean for a random variable equals 25, and its standard deviation

equals 3 ,then the normal value that represents the value X =40 is
5) If the slope of the regression line Y on X is positive, then the slope of the regression
line XonYis
(b) If Aand B are two events in a sample space for a random experiment where P(A)=0.5,

P(B)=0.6and P (A N B)=0.3,then Find the probability of the following events :

i) The occurrence of one event at least

ii) The occurrence of one event at most

iii)  The occurrence of only one even

Second: Answer only two of the following questions

Second question:
a) If Xis a discreet random variable with probability distribution table:

X 0 1 2 3
f(x) 0.35 0.4 0.15 0.1

Find the mean and the standard deviation for the random variable X

b) From the following table that represents the relation between X and Y:
X 2 7 9 12 3 6

Y 5 7 9 8 11 19

Find : The correlation coefficient between X and Y
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Third question:

a) If XX=50,YY=60,YX? =310, Y.Y? =498, XY =361 andn=10
1) Find the person's correlation coefficient between X and Y
2) Find the equation of regression line Y on X

b) If the marks of the students in one school in the math exam is a normal random
variable with mean 42 marks and standard deviation o . If 26.11% of the students
got more than 50 marks, find the value of

Fourth question:

a) If x is a continuous random variable its density function is f(x) where :
2x-1

flx) = ¥

Zero otherwise

for 1<X <3

First: verify that: P(1 < X< 3)=1 , Second:FindP(0<X< 2)
b) If xis a normal random variable with mean u , standard deviation o

Find : P (u — %a <x < u—%a)

Y4 0.00 0.01 0.02 0.03

0.0000 | 0.0040 | 0.0080 | 0.0120

0.0398 | 0.0438 | 0.0478 | 0.0517

0.0793 | 0.0832 | 0.0871 | 0.0910

0.1179 | 0.1217 | 0.1255 | 0.1293

0.1554 | 0.1591 | 0.1628 | 0.1664

0.1915 | 0.1950 | 0.1985 | 0.2019

0.2257 | 0.2291 | 0.2324 | 0.2357

0.2580 | 0.2611 | 0.2642 | 0.2673

0.2881 | 0.2910 | 0.2939 | 0.2967

0.3159 | 0.3186 | 0.3212 | 0.3238

0.3413 | 0.3438 | 0.3461 | 0.3485

0.3643 | 0.3665 | 0.3686 | 0.3708

0.3849 | 0.3869 | 0.3888 | 0.3907

0.4032 | 0.404S | 0.4066 | 0.4082

0.4192 | 0.4207 | 0.4222 | 0.4236

0.4332 | 0.4345 | 0.4357 | 0.4370

0.4452 | 0.4463 | 0.4474 | 0.4484

0.4554 | 0.4564 | 0.4573 | 0.4582

0.4641 | 0.4649 | 0.4656 | 0.4664

0.4713 | 0.4719 | 0.4726 | 0.4732

0.4772 | 0.4778 | 0.4783 | 0.4788

0.4821 | 0.4826 | 0.4830 | 0.4834

0.4861 | 0.4864 | 0.4868 | 0.4871

0.4893 | 0.4896 | 0.4898 | 0.4901

0.4918 | 0.4920 | 0.4922 | 0.4925

0.4938 | 0.4940 | 0.4941 | 0.4943

0.4953 | 0.4955 | 0.4956 | 0.4957

0.4965 | 0.4966 | 0.4967 | 0.4968

0.4974 | 0.4975 | 0.4976 | 0.4977

0.4981 | 0.4982 | 0.4982 | 0.4983

0.4987 | 0.4987 | 0.4987 | 0.4988




